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1 6/14 100m |d&l HEE(1) 12.09 (#5224 (1) 12.86 [Fak (1) 13,17 |35 HuBic A i (1) 13.32 | K Fae(D 13.36 | B Best (1) 13.43 | BH (1) 13.56 |{EfE wE(D) 13.73
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Bl -0.3 |#Y -0.3 [ KRE -0.3 |EHi -0.3 |Ef 0.3 |&& -0.3 |NATC 0.3 [KRE— 0.3
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6/15 TSR KREE— KR AL NE|
110mH-F S -7 & Bk-400m |18, 58/-1. 2-Tm77-1m35-58. 13 19. 03/-1. 2-6m86-1m57-1:00. 70 18. 11/-1. 2-5m75-1m40-1:02. 15 20. 43/~1. 2-6m84-1m30-57. 26 20. 48/~1. 2-Tm54-1m30-1:04. 13
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1 6/14 100m |g5AK #P(D) 13.82 [ #E(D 13.96 [4xH k% (1) 14.12 |5 R 14.73 |gAK  #EE(D) 14.80 |[7TH e (1) 14.95 |Hifs B+ (1) 15.09 |#fjE Ak (1) 15.22
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6/15| 100mH [ FW3) 14.61 |[f2H BT (3) 15.89 |BEH &AL (2) 16.57 | AR H (2) 16.76 U1 i (2) 17.31 |fHE 4L (3) 17.49 |{£#EY V& (2) 17.57 |[Sul 4% A (3) 18.59
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6/15| 4X100m |EJE 51.09 [ 51.68 |[F1HE 53. 11 KRG 54,28 | KRN 54. 62 KRG = 55.67 | KR — 56. 15 |/INE 56. 51
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HgEe  SERE Q) BH HEREG) i BB (3) Mg Ex(2) s —FE Q) MEEE HiEE (1) BRI R (3) B #EsQ)
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- KRR = HL5 RIRE L1 &R +0.7 |AJE -0.8 |RIHE +0.8 |'HA -0.7 PRI -0.1 |E¥i +0.9
- 6/14 fi AL Ak st (3) am28 | LiE L) m24 | KEFR EI1EAH (3) nl7 [IREFA O (3) 6m93 [iHiZe 284 (3) 6m81 |k 1#i (3) 6m63 |JEH  ZE(2) 6m38 Mk HiF (3) 6ml1
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6/15 KIREE 1) KRB FE =] A e
100mH-7E B Bk-Fu ALEE-200m |17, 27/-0. 5-1m20-6m53-28. 71/-0. 7 17.72/-0. 5-1m20-6m25-29. 10/-0. 7 18. 13/-0. 5-1m20-6m25-30. 48/-0. 7 20. 50/-0. 5-1m40-5m62-31. 95/-0. 7 20.97/-0. 5-1m15-5m10-32. 12/-0. 7 20. 58/-0. 5-NM-5m66-33. 04/-0. 7 22.52/-0. 5-1m00-4m72-32. 76/-0. 7
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